Problema 8.1

m
a) p:v = m=pV 0.5p.
pentru desen (prezentarea fortelor): (0.5p.)
Fou+Fy,=G (0.5p.)
(Vl +V2)pg :lelg +V2ng 1.0p.
b) V,+V, =V 3.0 p.
i_pP=P ospy PP gsp)
Vo op-p, Vo p,-p
pentru desen (prezentarea fortelor): (0.5p.)
V1:V2 - pz_p:p_pl .(0_5&). = = ﬁm
Pr=P P— P F¢ Ay
_pAtP 05) .
C) — ,0 - % 0.5p. G P2 h 20 p
0,9- 41363 .
Numeric p = cm cm _7 25 3 (0.5p.)
2 cm
Miscarea in lichidul 1:
L =AE, (0.5p.)
2 2
(Fu—G)h= m; - m;)‘) @) (05p.)
Miscarea in lichidul 2:
L, =AE,, (0.5p.)
2
(FAZ_G)h:O_m; ) (0.5p.)
Din (1) si (2):
d 2 450p.
) (Fa-G)h=(Fu~G)h-"2t wp) = P
2
= (FAZ—FAl)hzM 05p) =
2h
UO:\/Tg(pZ—pl) 105 p.)
vy = 2004136 09)~374ms  5p)
7,25
Total max | 10.0 p.




